N & 0l & Av S Z M A
20158 =3 2 3 LES|IH FE=AE0=2
N BFANE0=2
M 20z s
Hel: 2E0=SAMN XA (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
F=ANEgll=2 1,202,420 1,142,448 59,972
2s0l=s &S5 448,869 398,025 50,844
Sstol =&AL X 448,869 398,025 50,844
E=ANEg0ls2 2229 214,577 187,733 26,844
201 LEt2A | 24,703 0 24,703
01 AtR 22l | 13,707 0 13,707
oFJIANAE=E F=E 12,0008 = 3& = 33 108 0 108
OAMS A OlAHIE 1,100,000 = 13l 1,100 0 1,100
Ooll=2 224 8,500 0 8,500
OAral 24 70,000& » 50& 3,500 0 3,500
Oo&1 Hi=2 1,000,000& = 5JH At 5,000 0 5,000
oO=+Z1 2eE3F ¢ 500,000& 500 0 500
OsFAE SAFAN(LSHAH)
3,500% * 38 » 1201 = 5& 630 0 630
oMglissE(=HZ) 1,860 » 30& + 58 279 0 279
OFAES U (LH=EA) 300,0008 * 14 300 0 300
OA&2Ze] T (UsHA) 2,290 0 2,290
OF&XHI & HOZ, HHHIIRF
15,0003 * 30H 450 0 450
ogo ¢ ¢FIF 40,0002 = 104 400 0 400
ogs ¢ sa3os 6,000 = 100m 600 0 600
O4stdl, &23d SHIRF 60,0003 * 1404 840 0 840
02 3324l 10,996 0 10,996
ollsz MRS 3,500,000& = 3HE 10,500 0 10,500
OF=Il MEEZ 36,000 = 2CH = 43 288 0 288
oY AEZ 38,000 * 134 = 43 152 0 152
OsdJl HlaSeE dEtds AI8E
7,0008 * 23l « 43 56 0 56
206 M= Hl 0 3,499 A 3,499
01 M= 4l 0 3,499 A 3,499
OsFAE SAFN(L=EHAH) 0 0 630 A 630
oMglISF(H=E) 0 0 279 N279
OFAESFLH(ASHY) 0 0 300 A 300
OA&Zel U (UsHA) 0 2,290 N 2,290
OF&EXHI ¥ HOZE, BHEIIRR 0F=! 0 450 A 450
odgo ¢ ¢FIIF (=] 0 400 A 400
ogs & SdAols o0& 0 600 A 600
OAastll, &23d HSHRF 0& 0 840 A 840
301 et d = 1,000 0 1,000
09 AL HIE &= 1,000 0 1,000
OCARNMZIt =& SS&#HA HE 1,000,000 1,000 0 1,000
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N BFANE0=2
M 20z s
Hel: 2E0=SAMN XA (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
307 glz2tol & 25,140 20,500 4,640
05 RIZt2E = 25,140 20,500 4,640
QdEJI|tM2ACI Y 2l 700,000& * 43 2,800 0 2,800
ogst2eltidd 9l 240,000& * 42 960 0 960
OosZJiletd2e| el S9Hl 220,0008 * 43 880 0 880
EFANE0=s2 H2A 22,800 4,800 18,000
201 et 18,000 0 18,000
03 &Ar2 I 18,000 0 18,000
OdAAHOIMHHE 29 18,000,000& 18,000 0 18,000
202 Oddl 4,800 4,800 0
03 =220l 4,800 4,800 0
ONM2H FZ(SOLAIOLZ2SI S AIHH HT2/L
JHEN) (2018 ¢ &) 0& 0 4,800 A 4,800
ONZHE FT(ATE H2)(RI1E #HE)
1,200,000& = 221 * 23] 4,800 0 4,800
Ol=2 =OCIA M 6,000 0 6,000
201 LEt2A | 1,000 0 1,000
01 AtR 22l | 400 0 400
OdARE =& 100,000& * 49 400 0 400
03 & AL2 I 600 0 600
O32& &I H A 200,000& * 3H 600 0 600
301 et A=z 5,000 0 5,000
MIIEEES3 5,000 0 5,000
OARIZE2E Al&S 5,000 0 5,000
Ozl®=4 3,000,000& = 19H 3,000 0 3,000
Of=¢ 1,000,000& * 29H 2,000 0 2,000
ANEils2 29 121,680 115,380 6,300
O=&d&AE02R2Y 121,680 115,380 6,300
D=3 ARO2 22 121,680 115,380 6,300
201 Let24E] 113,880 109,280 4,600
01 AFS2t2lHl 20,240 15,640 4,600
OHIISM2UE == 1,000,000& * 23] 2,000 0 2,000
OZXY CIZE 48HI(15 EAZFE)
2,600,000& * 14! 2,600 0 2,600
401 AIEHI L 20 1,700 0 1,700
01 A& HI 1,700 0 1,700
OUIZ=HEASLL B2 M (EAEHZA)
1,700,000& = 14 1,700 0 1,700
HY2LIH(F=AE0=2) 74,674 71,846 2,828
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SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
JlE &3l 32,168 33,988 A 1,820
Jl23l 32,168 33,988 A 1,820
201 €24 13,748 14,168 A 420
01 AF22t2l bl 13,748 14,168 A 420
O=SZHI(Z2ZIHH) 6,636,000 6,636 7,056 A 420
202 044l 14,920 15,120 A 200
01 SLHOYI 14,920 15,120 A 200
OJIEZHI(==HH) 14,920,000& 14,920 15,120 A 200
203 ¥ S =&l 3,000 4,200 A 1,200
04 FNSEHE=LH| 3,000 4,200 A 1,200
OJIEH(ZAINH) 3,000,000 3,000 4,200 A1,200
el 2 42,506 37,858 4,648
ol Al 42,506 37,858 4,648
101 1Al 42,506 37,858 4,648
02 JIEtA 2 = 9,411 4,763 4,648
OZUZ2Z(SUARA)(RHEE) 4,648 0 4,648
Ollsd&AFLL
8,930% * 30AI2+ » 28 « 3 1,608 0 1,608
OUlEss2A(A2E 2T
7,060% * 30AI2 » 18 » 7E 1,483 0 1,483
Ollzsa=22(LA82 XLF)
7,4102 * 30AI2 » 18 » 7& 1,557 0 1,557




